Logs crash Suunto Ocean / Suunto App

{"app_name":"Suunto","timestamp":"2025-05-10 09:17:46.00
+0200","app_version":"2.45.0","slice_uuid":"27bf716d-1172-3¢c73-
a783-3b5e34914cbd","adam_id":"1230327951","build_version":"19123","bundlelD":"com.sports-
tracker.suunto.iphone","platform":2,"share_with_app_devs":0,"is_first_party":0,"bug_type":"309","os_version":"iPhone
0S 18.4.1 (22E252)","roots_installed":0,"incident_id":"263C1B49-F5CD-468E-
ACA7-907767B915D3","name":"Suunto"}

{

"uptime" : 39000,

"procRole" : "unknown",

"version" : 2,

"userlD" : 501,

"deployVersion" : 210,

"modelCode" : "iPhone13,1",

"coalitionID" : 608,

"osVersion" : {

"isEmbedded" : true,

"train" : "iPhone OS 18.4.1",
"releaseType" : "User",
"build" : "22E252"

|3

"captureTime" : "2025-05-10 09:17:43.2747 +0200",

"codeSigningMonitor" : 1,

"incident" : "263C1B49-F5CD-468E-ACA7-907767B915D3",

"pid" : 1527,

"translated" : false,

"cpuType" : "ARM-64",

"roots_installed" : 0,

"bug_type" : "309",

"procLaunch" : "2025-05-09 18:45:01.0305 +0200",

"procStartAbsTime" : 137202308728,

"procExitAbsTime" : 950190178921,

"procName" : "Suunto",

"procPath" : "Vprivate\/var\/containers\VVBundleVApplication\/74BC2B84-819A-44F5-BF07-40BE399C9B37V
Suunto.appVSuunto",

"bundlelnfo" : {"CFBundleShortVersionString":"2.45.0","CFBundleVersion":"19123","CFBundleldentifier":"com.sports-
tracker.suunto.iphone","DTAppStoreToolsBuild":"16E137"},

"storelnfo" : {"itemID":"1230327951","storeCohortMetadata":"10|
date=1728838800000&sf=143442&pgtp=Search&pgid=54f85a90-861d-4ea9-9cdd-
d22155d3bd28&prpg=SearchLanding_SearchLanding&ctxt=Search&issrch=1&imptyp=card&kind=iosSoftware&Ingid=2
" "distributorID":"com.apple.AppStore","deviceldentifierForVendor":"5A547F79-
F974-421D-8C7E-7184E9D7EAB1","softwareVersionExternalldentifier":"874397237","applicationVariant":"1:iPhone13,1
118", "thirdParty":true},

"parentProc" : "launchd",

"parentPid" : 1,

"coalitionName" : "com.sports-tracker.suunto.iphone",

"crashReporterKey" : "fb06798feac8ed758670c8d49¢ffc23865a38702",

"applelntelligenceStatus" : {"state":"unavailable","reasons":
["deviceNotCapable","unableToFetchAvailability","notOptedin","siriAssetlsNotReady"]},

"wasUnlockedSinceBoot" : 1,

"isLocked" : 1,

"codeSigningID" : "com.sports-tracker.suunto.iphone”,

"codeSigningTeamID" : "68G2VK28JK",

"codeSigningFlags" : 570450689,

"codeSigningValidationCategory" : 4,

"codeSigningTrustLevel" : 7,

"codeSigningAuxiliarylnfo" : 0,

"instructionByteStream" : {"beforePC":"dKIAOXVCAbnhJOD54AMBKQtiV5fgYwGRK2LVIXOBABRJV
USTCBEJiw==","atPC":"CMFfuGkiQLKIAQILYEIAkQI9gFIlfamb6NMA+eGDBpH2gV6X9QMAqgg=="},

"bootSessionUUID" : "98D984C0-4F2F-44CE-9FFE-04BB67BAC6ES3",

"basebandVersion" : "5.51.03",

"vmRegionInfo" : "Oxfffffffffffffffc is not in any region. \n  REGION TYPE START - END [ VSIZE] PRTV
MAX SHRMOD REGION DETAIL\n  UNUSED SPACE AT START\n---> \n  UNUSED SPACE AT END",

"exception" : {"codes":"0x0000000000000001, Oxffffffffffffffic","rawCodes":
[1,-4],"type":"EXC_BAD_ACCESS","signal":"SIGSEGV","subtype":"KERN_INVALID_ADDRESS at 0xfffffffffffffffc"},



"termination” : {"flags":0,"code":11,"namespace":"SIGNAL","indicator":"Segmentation fault: 11","byProc":"exc
handler","byPid":1527},

"vmregioninfo" : "Oxfffffffffffffffc is not in any region. \n  REGION TYPE START - END [ VSIZE] PRTV
MAX SHRMOD REGION DETAIL\n  UNUSED SPACE AT START\n---> \n  UNUSED SPACE AT END",

"faultingThread" : 5,

"threads" : [{"id":77609,"threadState":{"x":[{"value":4},{"value":0},{"value":15872},{"value":409932},{"value": 73896},
{"value":5},{"value":8589934595} {"value":5},{"value":5377446759} ,{"value":5377446752},{"value":5377446744},
{"value":77609},{"value":68169720937986},{"value":68169720938242},{"value":409932},
{"value":10509244648,"symbollLocation":0,"symbol":"_NSConcreteMallocBlock"},{"value":301},{"value":8490899784},
{"value":0},{"value":5377446720},{"value":68169720938242},{"value":15872},{"value":5377446744},{"value":77609},
{"value":5377446752},{"value":5411547648},{"value":336789709},{"value":0},
{"value":0}],"flavor":"ARM_THREAD_STATE64","Ir":{"value":8976894544},"cpsr":{"value":1610616832},"fp":
{"value":6093939568},"sp":{"value":6093939520},"esr":{"value":1442840704,"description":" Address size fault"},"pc":
{"value":8010735384},"far":{"value":0}},"queue":"com.apple.main-thread","frames":
[{"imageOffset":28440,"symbol":"__psynch_mutexwait","symbolLocation":8,"imagelndex":19},
{"imageOffset":14928,"symbol":"_pthread_mutex_firstfit_lock_wait","symbolLocation":84,"imagelndex":20},
{"imageOffset":13976,"symbol":"_pthread_mutex_firstfit_lock_slow","symbollLocation":220,"imagelndex":20},
{"imageOffset":5948,"imagelndex":21},{"imageOffset":25924,"imagelndex":22},
{"imageOffset":475996,"symbol":"__CFRUNLOOP_IS_CALLING_OUT_TO_A_BLOCK__","symbolLocation":28,"imageln
dex":23},{"imageOffset":464216,"symbol":"__CFRunLoopDoBlocks","symbolLocation":352,"imagelndex":23},
{"imageOffset":463428,"symbol":"__CFRunLoopRun","symbolLocation":2384,"imagelndex":23},
{"imageOffset":612096,"symbol":"CFRunLoopRunSpecific","symbolLocation":572,"imagelndex":23},
{"imageOffset":4496,"symbol":"GSEventRunModal","symbollLocation":168,"imagelndex":24},
{"imageOffset":3973696,"symbol":"-[UlApplication _run]","symbolLocation":816,"imagelndex":25},
{"imageOffset":3966064,"symbol":"UlApplicationMain","symbolLocation":336,"imagelndex":25},
{"imageOffset":34456,"imagelndex":0},
{"imageOffset":68312,"symbol":"start","symbolLocation":5964,"imagelndex":26}]},
{"id":77619,"name":"com.apple.uikit.eventfetch-thread","threadState":{"x":[{"value":268451845},
{"value":21592279046},{"value":8589934592},{"value":70381629079552},{"value":0},{"value":70381629079552},
{"value":2},{"value":4294967295},{"value":0},{"value":0},{"value":2},{"value":0},{"value":0},{"value":16387},{"value":0},
{"value":0},{"value":18446744073709551569},{"value":2},{"value":0},{"value":4294967295},{"value":2},
{"value":70381629079552},{"value":0},{"value":70381629079552},{"value":6099082632},{"value":8589934592},
{"value":21592279046},{"value":18446744073709550527},
{"value":8462827520,"symbolLocation":56,"symbol":"enumerationMutationHandler"}],"flavor":"ARM_THREAD_STATE6
4" "Ir":{"value":8010724252},"cpsr":{"value":4096},"fp":{"value":6099082480},"sp":{"value":6099082400},"esr":
{"value":1442840704,"description":" Address size fault"},"pc":{"value":8010710244},"far":{"value":0}},"frames":
[{"imageOffset":3300,"symbol":"mach_msg2_trap","symbolLocation":8,"imagelndex":19},
{"imageOffset":17308,"symbol":"mach_msg2_internal","symbollLocation":76,"imagelndex":19},
{"imageOffset":17080,"symbol":"mach_msg_overwrite","symbolLocation":428,"imagelndex":19},
{"imageOffset":16640,"symbol":"mach_msg","symbollLocation":24,"imagelndex":19},
{"imageOffset":464588,"symbol":"__CFRunLoopServiceMachPort","symbolLocation":160,"imagelndex":23},
{"imageOffset":462252,"symbol":"__CFRunLoopRun","symbolLocation":1208,"imagelndex":23},
{"imageOffset":612096,"symbol":"CFRunLoopRunSpecific","symbolLocation":572,"imagelndex":23},
{"imageOffset":477352,"symbol":"-[NSRunLoop(NSRunLoop)
runMode:beforeDate:]","symbolLocation":212,"imagelndex":28},{"imageOffset":472792,"symbol":"-
[NSRunLoop(NSRunLoop) runUntilDate:]","symbolLocation":64,"imagelndex":28},{"imageOffset":4969964,"symbol":"-
[UIEventFetcher threadMain]","symbolLocation":424,"imagelndex":25},
{"imageOffset":1137912,"symbol":"__NSThread__start__","symbolLocation":732,"imagelndex":28},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbolLocation":8,"imagelndex":20}]},
{"id":77627,"name":"com.google.firebase.crashlytics.MachExceptionServer","threadState":{"x":[{"value":1},{"value":0},
{"value":1},{"value":8976187564},{"value":10758893076480},{"value":0},{"value":0},{"value":0},{"value":101},
{"value":8275202416618438745},{"value":48},{"value":87},{"value":0},{"value":1},{"value":48} {"value":40},{"value":4},
{"value":318804076},{"value":0},{"value":4428894980},{"value":11},{"value":40},{"value":4428897929},
{"value":4428894913},{"value":35},{"value":4412604288},{"value":4428897932},{"value":4533010196},
{"value":4428894874}],"flavor":"ARM_THREAD_STATE64","Ir":{"value":4412604072},"cpsr":{"value":4096},"fp":
{"value":4533010064},"sp":{"value":4533009952},"esr":{"value":1442840704,"description":" Address size fault"},"pc":
{"value":8010727624},"far":{"value":0}},"frames":
[{"imageOffset":20680,"symbol":"write","symbolLocation":8,"imagelndex":19},
{"imageOffset":39665320,"imagelndex":0},{"imageOffset":39652980, "imagelndex":0},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbolLocation":8,"imagelndex":20}]},
{"id":77633,"name":"com.mapbox.common.Unspecified Worker 1","threadState":{"x":[{"value":260},{"value":0},
{"value":12032},{"value":0},{"value":0},{"value":160},{"value":0},{"value":0},{"value":6101970520},{"value":0},{"value":0},
{"value":2},{"value":2},{"value":0},{"value":0},{"value":0},{"value":305},{"value":8490899560},{ "value":0},
{"value":5382292824},{"value":5382292888},{"value":6101971168},{"value":0},{"value":0},{"value":12032},



{"value":12033},{"value":12288},{"value":5382318408},{"value":1000}],"flavor":"ARM_THREAD_STATE64","Ir":
{"value":8976892668},"cpsr":{"value":1610616832},"fp":{"value":6101970640},"sp":{"value":6101970496},"esr":
{"value":1442840704,"description":" Address size fault"},"pc":{"value":8010732600},"far":{"value":0}},"frames":
[{"imageOffset":25656,"symbol":"__psynch_cvwait","symbolLocation":8,"imagelndex":19},
{"imageOffset":13052,"symbol":"_pthread_cond_wait","symbolLocation":984,"imagelndex":20},
{"imageOffset":135876,"symbol":"std::__1::condition_variable::wait(std::__1::unique_lock<std::__1::mutex>&)","symbolL
ocation":32,"imagelndex":30},{"imageOffset":1588016,"imagelndex":16},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbolLocation":8,"imagelndex":20}]},
{"id":77634,"name":"com.mapbox.common.location.sharedRunloop","threadState":{"x":[{"value":268451845},
{"value":21592279046},{"value":8589934592},{"value":144048908140544},{"value":0},{"value":144048908140544},
{"value":2},{"value":4294967295},{"value":0},{"value":0},{"value":2},{"value":0},{"value":0},{"value":33539},
{"value":9472},{"value":0},{"value":18446744073709551569},{"value":40681930237186},{"value":0},
{"value":4294967295} {"value":2},{"value":144048908140544},{"value":0},{"value":144048908140544},
{"value":6102539704}{"value":8589934592} {"value":21592279046},{"value":18446744073709550527},
{"value":8462827520,"symbolLocation":56,"symbol":"enumerationMutationHandler"}],"flavor":"ARM_THREAD_STATE6
4" "Ir":{"value":8010724252},"cpsr":{"value":4096},"fp":{"value":6102539552},"sp":{"value":6102539472},"esr":
{"value":1442840704,"description":" Address size fault"},"pc":{"value":8010710244},"far":{"value":0}},"frames":
[{"imageOffset":3300,"symbol":"mach_msg2_trap","symbolLocation":8,"imagelndex":19},
{"imageOffset":17308,"symbol":"mach_msg2_internal","symbollLocation":76,"imagelndex":19},
{"imageOffset":17080,"symbol":"mach_msg_overwrite","symbolLocation":428,"imagelndex":19},
{"imageOffset":16640,"symbol":"mach_msg","symbollLocation":24,"imagelndex":19},
{"imageOffset":464588,"symbol":"__CFRunLoopServiceMachPort","symbolLocation":160,"imagelndex":23},
{"imageOffset":462252,"symbol":"__ CFRunLoopRun","symbolLocation":1208,"imagelndex":23},
{"imageOffset":612096,"symbol":"CFRunLoopRunSpecific","symbolLocation":572,"imagelndex":23},
{"imageOffset":602288,"symbol":"CFRunLoopRun","symbolLocation":64,"imagelndex":23},
{"imageOffset":2148848,"imagelndex":16},
{"imageOffset":1137912,"symbol":"__NSThread__start__","symbolLocation":732,"imagelndex":28},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbolLocation":8,"imagelndex":20}]},
{"triggered":true,"id":77635,"threadState":{"x":[{"value":6103115128},{"value":5431480320},{"value":6103113880},
{"value":18446726483666796544},{"value":5474289280},{"value":20},{"value":91},{"value":8731205822928018165},
{"value":0},{"value":0},{"value":0},{"value":0},{"value":559438231398002784},{"value":559420110930979200},
{"value":12288},{"value":71},{"value":10749247891077531136},{"value":52468255104},{"value":0},
{"value":6103115128},{"value":1},{"value":6103114992} {"value":5431480320},{"value":6103115032},
{"value":5431480320},{"value":6103113880},{"value":6103113896},{"value":6103113856},
{"value":0}],"flavor":"ARM_THREAD_STATE64","Ir":{"value":4418238240},"cpsr":{"value":1610616832},"fp":
{"value":6103113840},"sp":{"value":6103113104},"esr":{"value":2449473540,"description":"(Data Abort) byte read
Translation fault"},"pc":{"value":4418161748,"matchesCrashFrame":1},"far":
{"value":18446744073709551612}},"frames":[{"imageOffset":45222996,"imagelndex":0},
{"imageOffset":45299488,"imagelndex":0},{"imageOffset":45295624,"imagelndex":0},
{"imageOffset":45271196,"imagelndex":0},{"imageOffset":45261472,"imagelndex":0},
{"imageOffset":45255904,"imagelndex":0},{"imageOffset":45211316,"imagelndex":0},

{"imageOffset":45208968, "imagelndex":0},{"imageOffset":44990880,"imagelndex":0},

{"imageOffset":45134908, "imagelndex":0},{"imageOffset":45134512,"imagelndex":0},
{"imageOffset":44990880,"imagelndex":0},{"imageOffset":45524280,"imagelndex":0},
{"imageOffset":45523840,"imagelndex":0},
{"imageOffset":45496376,"symbol":"boost::executors::basic_thread_pool::worker_thread()","symbolLocation":184,"ima
gelndex":0},{"imageOffset":45819752,"imagelndex":0},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbolLocation":8,"imagelndex":20}]},{"id":77636,"frames":
[{"imageOffset":25656,"symbol":"__psynch_cvwait","symbolLocation":8,"imagelndex":19},
{"imageOffset":13052,"symbol":"_pthread_cond_wait","symbolLocation":984,"imagelndex":20},
{"imageOffset":45820976,"imagelndex":0},{"imageOffset":45497036,"imagelndex":0},
{"imageOffset":45496292,"symbol":"boost::executors::basic_thread_pool::worker_thread()","symbolLocation":100,"ima
gelndex":0},{"imageOffset":45819752,"imagelndex":0},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbolLocation":8,"imagelndex":20}],"threadState":{"x":[{"value":4},
{"value":0},{"value":168960},{"value":0},{"value":0},{"value":160},{"value":0},{"value":0},{"value":6 103690696},
{"value":0},{"value":1280},{"value":5497558140162},{"value":5497558140162},{"value":1280},{"value":0},
{"value":5497558140160},{"value":305},{"value":5235128584},{"value":0},{"value":5383654736},{"value":5383654800},
{"value":6103691488},{"value":0},{"value":0},{"value":168960},{"value":168960},{"value":170496},{"value":0},
{"value":0}],"flavor":"ARM_THREAD_STATE64","Ir":{"value":8976892668},"cpsr":{"value":1610616832},"fp":
{"value":6103690816},"sp":{"value":6103690672},"esr":{"value":1442840704,"description":" Address size fault"},"pc":
{"value":8010732600},"far":{"value":0}}},{"id":77637,"frames":
[{"imageOffset":25656,"symbol":"__psynch_cvwait","symbolLocation":8,"imagelndex":19},



{"imageOffset":13052,"symbol":"_pthread_cond_wait","symbolLocation":984,"imagelndex":20},
{"imageOffset":45820976,"imagelndex":0},{"imageOffset":45497036,"imagelndex":0},
{"imageOffset":45496292,"symbol":"boost::executors::basic_thread_pool::worker_thread()","symbolLocation":100,"ima
gelndex":0},{"imageOffset":45819752,"imagelndex":0},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbolLocation":8,"imagelndex":20}],"threadState":{"x":[{"value":4},
{"value":0},{"value":168704},{"value":0},{"value":0},{"value":160},{"value":0},{"value":0},{"value":6104264136},
{"value":0},{"value":1280},{"value":5497558140162},{"value":5497558140162},{"value":1280},{"value":0},
{"value":5497558140160},{"value":305},{"value":939637386},{"value":0},{"value":5383654736},{"value":5383654800},
{"value":6104264928},{"value":0},{"value":0},{"value":168704},{"value":168704},{"value":170240},{"value":0},
{"value":0}],"flavor":"ARM_THREAD_STATE64","Ir":{"value":8976892668},"cpsr":{"value":1610616832},"fp":
{"value":6104264256},"sp":{"value":6104264112},"esr":{"value":1442840704,"description":" Address size fault"},"pc":
{"value":8010732600},"far":{"value":0}}},{"id":77638,"frames":
[{"imageOffset":25656,"symbol":"__psynch_cvwait","symbolLocation":8,"imagelndex":19},
{"imageOffset":13052,"symbol":"_pthread_cond_wait","symbolLocation":984,"imagelndex":20},
{"imageOffset":45820976,"imagelndex":0},{"imageOffset":45497036,"imagelndex":0},
{"imageOffset":45496292,"symbol":"boost::executors::basic_thread_pool::worker_thread()
gelndex":0},{"imageOffset":45819752,"imagelndex":0},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbolLocation":8,"imagelndex":20}],"threadState":{"x":[{"value":4},
{"value":0},{"value":169472},{"value":0},{"value":0},{"value":160},{"value":0},{"value":0},{"value":6 104837576},
{"value":0},{"value":1536},{"value":6597069768194},{"value":6597069768194},{"value":1536},{"value":0},
{"value":6597069768192},{"value":305},{"value":49716958088},{"value":0},{"value":5383654736},{"value":5383654800},
{"value":6104838368},{"value":0},{"value":0},{"value":169472},{"value":169472},{"value":171008},{"value":0},
{"value":0}],"flavor":"ARM_THREAD_STATE64","Ir":{"value":8976892668},"cpsr":{"value":1610616832},"fp":
{"value":6104837696},"sp":{"value":6104837552},"esr":{"value":1442840704,"description":" Address size fault"},"pc":
{"value":8010732600},"far":{"value":0}}},{"id":77639,"frames":
[{"imageOffset":25656,"symbol":"__psynch_cvwait","symbolLocation":8,"imagelndex":19},
{"imageOffset":13052,"symbol":"_pthread_cond_wait","symbolLocation":984,"imagelndex":20},
{"imageOffset":45820976,"imagelndex":0},{"imageOffset":45497036,"imagelndex":0},
{"imageOffset":45496292,"symbol":"boost::executors::basic_thread_pool::worker_thread()","symbolLocation":100,"ima
gelndex":0},{"imageOffset":45819752,"imagelndex":0},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbollLocation":8,"imagelndex":20}],"threadState":{"x":[{"value":4},
{"value":0},{"value":169216},{"value":0},{"value":0},{"value":160},{"value":0},{"value":0},{"value":6105411016},
{"value":0},{"value":1280},{"value":5497558140162},{"value":5497558140162},{"value":1280},{"value":0},
{"value":5497558140160},{"value":305},{"value":38592305496},{"value":0},{"value":5383654736},{"value":5383654800},
{"value":6105411808},{"value":0},{"value":0},{"value":169216},{"value":169216},{"value":170752},{"value":0},
{"value":0}],"flavor":"ARM_THREAD_STATE64","Ir":{"value":8976892668},"cpsr":{"value":1610616832},"fp":
{"value":6105411136},"sp":{"value":6105410992},"esr":{"value":1442840704,"description":" Address size fault"},"pc":
{"value":8010732600},"far":{"value":0}}},{"id":77640,"frames":
[{"imageOffset":25656,"symbol":"__psynch_cvwait","symbolLocation":8,"imagelndex":19},
{"imageOffset":13052,"symbol":"_pthread_cond_wait","symbolLocation":984,"imagelndex":20},
{"imageOffset":45820976,"imagelndex":0},{"imageOffset":45497036,"imagelndex":0},
{"imageOffset":45496292,"symbol":"boost::executors::basic_thread_pool::worker_thread()","symbolLocation":100,"ima
gelndex":0},{"imageOffset":45819752,"imagelndex":0},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbolLocation":8,"imagelndex":20}],"threadState":{"x":[{"value":260},
{"value":0},{"value":169728},{"value":0},{"value":0},{"value":160},{"value":0},{"value":0},{"value":6105984456},
{"value":0},{"value":1536},{"value":6597069768194},{"value":6597069768194},{"value":1536},{"value":0},
{"value":6597069768192},{"value":305},{"value":60942285824},{"value":0},{"value":5383654736},{"value":5383654800},
{"value":6105985248},{"value":0},{"value":0},{"value":169728},{"value":169728},{ "value":171264},{"value":0},
{"value":0}],"flavor":"ARM_THREAD_STATE64","Ir":{"value":8976892668},"cpsr":{"value":1610616832},"fp":
{"value":6105984576},"sp":{"value":6105984432},"esr":{"value":1442840704,"description":" Address size fault"},"pc":
{"value":8010732600},"far":{"value":0}}},{"id":77641,"frames":
[{"imageOffset":25656,"symbol":"__psynch_cvwait","symbolLocation":8,"imagelndex":19},
{"imageOffset":13052,"symbol":"_pthread_cond_wait","symbolLocation":984,"imagelndex":20},
{"imageOffset":45820976,"imagelndex":0},{"imageOffset":45497036,"imagelndex":0},
{"imageOffset":45496292,"symbol":"boost::executors::basic_thread_pool::worker_thread()
gelndex":0},{"imageOffset":45819752,"imagelndex":0},
{"imageOffset":6908,"symbol":"_pthread_start","symbolLocation":136,"imagelndex":20},
{"imageOffset":6660,"symbol":"thread_start","symbolLocation":8,"imagelndex":20}],"threadState":{"x":[{"value":4},
{"value":0},{"value":65792},{"value":0},{"value":0},{"value":160},{"value":0},{"value":0},{"value":6106557896},{"value":0},
{"value":1024},{"value":4398046512130},{"value":4398046512130},{"value":1024},{"value":0},{"value":4398046512128},
{"value":305},{"value":52988914482},{"value":0},{"value":5383654976},{"value":5383655040},{"value":6 106558688},
{"value":0},{"value":0},{"value":65792},{"value":65792},{"value":68864},{"value":0},

,"symbolLocation":100,"ima

,"symbolLocation":100,"ima
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"uuid" : "cf4188fa-356b-35b2-b051-4732f1cb20b5",
"path" : "Vprivate\V/var\/containers\VBundleVApplication\/74BC2B84-819A-44F5-BF07-40BE399C9B37V/Suunto.appV
Frameworks\VMapboxCoreMaps.framework\VVMapboxCoreMaps",
"name" : "MapboxCoreMaps"
13
{

"source" : "P",
"arch" : "arm64",
"base" : 4470636544,
"size" : 5308416,
"uuid" : "afe9116d-813b-3df5-a4d7-2c5f1d152348",
"path" : "VprivateV/var\/containers\VBundleVApplication\/74BC2B84-819A-44F5-BF07-40BE399C9B37\V/Suunto.appV
Frameworks\VMapboxCommon.framework\VVMapboxCommon",
"name" : "MapboxCommon"
13
{
"source" : "P",
"arch" : "arm64",
"base" : 4476600320,
"size" : 6127616,
"uuid" : "3467c090-1531-3ffe-ae77-da107fe28791",
"path" : "VprivateV/var\/containers\VBundleVApplication\/74BC2B84-819A-44F5-BF07-40BE399C9B37\/Suunto.appV
FrameworksVsttalg.frameworkVsttalg",
"name" : "sttalg"
}
{
"source" : "P",
"arch" : "arm64e",
"base" : 4496097280,
"size" : 49152,
"uuid" : "7b2292ed-2314-3e4f-929b-2831fc172b43",
"path" : "Vprivate\VprebootV/Cryptexes\VOSVusrVlibVlibobjc-trampolines.dylib",
"name" : "libobjc-trampolines.dylib"

"source" : "P",

"arch" : "arm64e",

"base" : 8010706944,

"size" : 236408,

"uuid" : "9d196db4-7013-3176-8c02-5b4c68701c92",
"path" : "VusrVlibVsystemVlibsystem_kernel.dylib",
"name" : "libsystem_kernel.dylib"

"source" : "P",

"arch" : "arm64e",

"base" : 8976879616,

"size" : 50172,

"uuid" : "00306a1f-1118-3f86-90bd-d18b5ed5409f",
"path" : "VusrVIibVsystemVlibsystem_pthread.dylib",
"name" : "libsystem_pthread.dylib"

"source" : "P",

"arch" : "arm64e",

"base" : 6887952384,

"size" : 2554048,

"uuid" : "39d28978-9170-3ee3-8747-e3fcaal9e0de8",

"path" : "V/SystemV/Library\/Frameworks\/CorelLocation.framework\/CorelLocation",
"name" : "CorelLocation"

"source" : "P",

"arch" : "arm64e",
"base" : 7228452864,
"size" : 227872,



"uuid" : "bdd34313-5079-334b-bf08-34d6e4b27b05",
"path" : "\/System\/Library\/PrivateFrameworks\VLocationSupport.frameworkVLocationSupport",
"name" : "LocationSupport"
|3
{
"source" : "P",
"arch" : "arm64e",
"base" : 6655963136,
"size" : 5754880,
"uuid" : "0551baa3-c6e9-3423-b0e2-be69719c1d7f",
"path" : "V/SystemV/Library\VFrameworks\/CoreFoundation.framework\/CoreFoundation",
"name" : "CoreFoundation"

"source" : "P",

"arch" : "arm64e",

"base" : 7943438336,

"size" : 35936,

"uuid" : "c620bafa-568e-3bcb-b317-76c829cbdd46",

"path" : "\/System\V/Library\/PrivateFrameworks\/GraphicsServices.framework\/GraphicsServices",
"name" : "GraphicsServices"

"source" : "P",

"arch" : "arm64e",

"base" : 6698860544,

"size" : 32770592,

"uuid" : "05197341-f998-32e5-a847-da98bb8c68bf",

"path" : "VVSystem\V/Library\/PrivateFrameworksVUIKitCore.frameworkVUIKitCore",
"name" : "UIKitCore"

"source" : "P",

"arch" : "arm64e",

"base" : 7304540160,

"size" : 630804,

"uuid" : "189fe480-5d5b-3b89-9289-58bc88624420",
"path" : "VusrVlibVdyld",

"name" : "dyld"

"size" : 0,

"source" : "A",

"base" : 0,

"uuid" : "00000000-0000-0000-0000-000000000000"

"source" : "P",

"arch" : "arm64e",

"base" : 6635397120,

"size" : 13145600,

"uuid" : "2bd7eb53-2f57-3300-b8de-478229e49115",

"path" : "VSystem\V/Library\/Frameworks\/Foundation.framework\/Foundation",
"name" : "Foundation"

"source" : "P",
"arch" : "arm64e",
"base" : 8976179200,
"size" : 30248,
"uuid" : "9b52c743-8794-3d22-9564-b6bcf3303389",
"path" : "VusrVIibVsystemVlibsystem_platform.dylib",
"name" : "libsystem_platform.dylib"
13
{

"source" : "P",



"arch" : "arm64e",

"base" : 6935568384,

"size" : 589816,

"uuid" : "b013e64c-8d52-3b48-b7bf-1c27625f4609",
"path" : "VusrVliibVlibc++.1.dylib",

"name" : "libc++.1.dylib"

"source" : "P",

"arch" : "arm64e",

"base" : 6789931008,

"size" : 522424,

"uuid" : "027de04c-2929-357b-b6a3-701405aab6be",
"path" : "VusrVIibVsystemVlibsystem_c.dylib",
"name" : "libsystem_c.dylib"

"source" : "P",

"arch" : "arm64e",

"base" : 6678568960,

"size" : 3955456,

"uuid" : "b25d7953-680a-30a5-a2a0-0f07e5117c91",

"path" : "VSystemV/Library\VFrameworks\VCFNetwork.framework\/CFNetwork",
"name" : "CFNetwork"

"source" : "P",

"arch" : "arm64e",

"base" : 7263969280,

"size" : 2226528,

"uuid" : "2755d34b-536e-321d-8c01-c16a8fc79089",

"path" : "V/SystemV/Library\/PrivateFrameworks\/TextToSpeech.framework\/TextToSpeech",
"name" : "TextToSpeech"

"source" : "P",

"arch" : "arm64e",

"base" : 6932652032,

"size" : 261920,

"uuid" : "78fa49a9-7706-3840-9a42-8baleeaeb2d3",
"path" : "VusrVlibVsystemVlibsystem_malloc.dylib",
"name" : "libsystem_malloc.dylib"

"source" : "P",

"arch" : "arm64e",

"base" : 8977186816,

"size" : 294336,

"uuid" : "56ade9fc-30a8-31f9-b269-172b0ea9278c",
"path" : "VusrVIibVsystemVlibxpc.dylib",

"name" : "libxpc.dylib"

"source" : "P",

"arch" : "arm64e",

"base" : 6789644288,

"size" : 285440,

"uuid" : "2c7db97b-46f0-3a67-af9f-e26859f0008d",
"path" : "VusrVlibVsystemVlibdispatch.dylib",
"name" : "libdispatch.dylib"

"source" : "P",

"arch" : "arm64e",
"base" : 6611320832,
"size" : 334828,



"uuid" : "8b2413f2-4560-37f3-b081-5ccd6236f050",
"path" : "VusrVlibVlibobjc.A.dylib",
"name" : "libobjc.A.dylib"
13
{
"source" : "P",
"arch" : "arm64e",
"base" : 8176545792,
"size" : 2411680,
"uuid" : "649829a7-c5f1-378b-901f-32305aebb7b1",
"path" : "V/SystemV/Library\/CoreServices\VRawCamera.bundle\VRawCamera",
"name" : "RawCamera"

}

"sharedCache" : {

"base" : 6610239488,

"size" : 4364779520,

"uuid" : "54434b37-41cf-3b61-b21c-aedf072137d7"
|3

"vmSummary" : "ReadOnly portion of Libraries: Total=1.4G resident=0K(0%)
swapped_out_or_unallocated=1.4G(100%)\nWritable regions: Total=274.4M written=963K(0%) resident=739K(0%)

swapped_out=224K(0%) unallocated=273.5M(100%)\n\n VIRTUAL REGION \nREGION TYPE
SIZE COUNT (non-coalesced) \n=========== \nAccelerate framework

128K 1 \nActivity Tracing 256K 1 \nAttributeGraph Data 1024K 1 \nAudio

64K 1\nCG image 1040K 1 \nCG raster data 1184K 25 \nColorSync

304K 16 \nCoreAnimation 12.5M 164 \nFoundation 16K 1 \nKernel Alloc Once
32K 1 \nMALLOC 219.8M 64 \nMALLOC guard page 32K 2 \nMach message
16K 1 \nSQLite page cache 2048K 16 \nSTACK GUARD 736K 46 \nStack

25.4M 64 \nVM_ALLOCATE 3872K 8\n__AUTH 5186K 516
\n__AUTH_CONST 86.0M 983\n__CTF 824 1\n__DATA 33.4M
958 \n__DATA_CONST 31.5M 1005 \n__DATA_DIRTY 8555K 896 \n__FONT_DATA
2352 1\n__INFO_FILTER 8 1 \n__LINKEDIT 196.1M 20 \n__LLVM_COV
178K 4\n__OBJC_RO 81.0M 1\n_OBJC_RW 2985K 1\n__TEXT

1.2G 1012 \n__TEXT (graphics) 21.3M 15\n_TPRO_CONST 128K 2 \nlibnetwork
5760K 32 \nmapped file 411.3M 33 \npage table in kernel 739K 1 \nshared memory
1104K 5\N=========== \nTOTAL 2.4G 5900\n",

"legacylnfo" : {
"threadTriggered" : {

}
}’
"logWritingSignature" : "598a7e76c8f9a716006cal2171aa199a08b155bf",
"trialinfo" : {
"rollouts" : [
{
"rolloutld" : "670e9bd77a111748a97092a1",
"factorPacklds" : {
"SIRI_TTS_DEVICE_TRAINING" : "67d07fb744f1a3655d87002b"
13
"deploymentld" : 240000016
13

{
“rolloutld" : "654439cdafbf5b61207873a9",

"factorPacklds" : {
"SIRI_DATA_SHARING_MTE_OPT_OUT" : "65443a1cf764584e3e121675"

13
"deploymentld" : 240000004
}

1
"experiments" : [
{
"treatmentld" : "4e35bcbf-aaec-4005-a24f-45cfc0de6313",
"experimentld" : "673c228114f8311522106782",
"deploymentld" : 400000012
|3
{



"treatmentld" : "4bcb7f91-ab7a-47b4-8e7b-7ad8aeeccOae",
"experimentld" : "66313d942a3d926e3b50f15a",
"deploymentld" : 400000027



